SGJ DAV SEN. SEC. PUBLIC SCHOOL, HARIPURA
Class — 9th (Assignment)
Date — 28.08.2025

Instructions:

Dear Students,

We are sending you Homework. You have to solve this work in your notebook in a neat and
clean way. You have to submit this work after the opening of school to your Subject Teacher.

Subject-English
1. You are Manjunatha/Manglesh living at 220, GK Road, Bengaluru. Your uncle couldn’t be a part of your
birthday party but he sent you a book Life and Ideas of Vivekananda on your birthday. Write a letter to your
uncle telling him that you missed him badly but were more than compensated for getting this valuable gift. (5)
2. Your friend has been sick and has been unable to attend school for two weeks. An Inter-school drama
competition took place during this period. Write a letter to your friend telling him/her about the event and your
role in it. (5)

3. A friend of yours has been out of station for a month and there was an important event/ function held in the
school while he/she was away. Write him/her a letter describing of the event/ function, and your role in it, and
why your friend was missed. (5)

4. You are to be awarded a special prize at the Annual Prize Day Ceremony of your school. Write a letter to a
lady relative giving her the news. Be sure to include details of the Prize that you are to receive and tell her why
you have been chosen for this honor (5).

Subject -Science
Q1. A doctor observes that a patient has swelling in hands and feet due to accumulation of water in cells.

(2 Marks)

(a) Which cellular process is responsible?

(b) Explain why this happens.

Answer:(a) Osmosis.

(b) Water enters the cells by osmosis when fluid around cells becomes hypotonic, causing swelling.

Q2. A student prepared slides of onion peel and cheek cells. Write two observations to differentiate plant cells
from animal cells. (2 Marks)
Answer:Onion peel: Cell wall present, large vacuole, regular shape.

Cheek cells: No cell wall, small vacuoles, irregular shape.

Q3. Guard cells of stomata become turgid when water enters them. How does this help in photosynthesis?

(2 Marks)
Answer:When guard cells swell, stomata open — CO, enters — photosynthesis occurs effectively.
Q4. Lysosomes are called “suicidal bags’. Justify with an example. (2 Marks)

Answer:They contain digestive enzymes that can digest damaged organelles or even entire cells during
injury/infection — e.g., tadpole tail disappears during metamorphosis.

Q5. A tree stands upright for hundreds of years. Which plant tissue provides strength and mechanical support?
How? (2 Marks)
Answer:Sclerenchyma provides strength.

Thick lignified cell walls give rigidity to plant.

Q6. A boy injured his leg in an accident. The wound healed after a few days with new skin forming.(2 Marks)
(a) Which tissue is responsible for healing?

(b) Why only this tissue?

Answer:(a) Epithelial tissue (new cells formed by cell division).

(b) Epithelial cells divide rapidly and cover wounds.

Q7. Nerve cell is the longest cell in the human body. How is its structure suited for its function? (2 Marks)
Answer:Long axon helps transmit impulses over long distances.

Dendrites receive signals, axon transmits them to muscles/glands.

Q8. Differentiate between Xylem and Phloem on the basis of structure and function. (2 Marks)
Answer:Xylem: Conducts water, dead cells (tracheids, vessels), unidirectional flow.



Phloem: Conducts food, living cells (sieve tubes, companion cells), bidirectional flow.
Subject -Hindi
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Subject: Mathematics
Q1. Evaluate 105x106 without multiplying directly. (2 marks)
Solution: 105x106=(100+5) (100+6)
=(100)%+(5+6) x100+5x6
[Using the identity, (x+a) (x+b) =x?+(a+b) x+ab].
=10000+1100+30
=11130
Q2. Evaluate 107x108 without multiplying directly. (2 marks)
Q3. Write three solutions for the equation: 2x+3y=12. (3 marks)
Solution:(1) Put x=0 (1) Put y=3
2x0+3y=12 2x+3%3=12
0+3y=12 2x=3




_12 _ 3
y=5 =4 *=3
(1) Puty=0
2x+3%0=12
2x=12
X=6
X 0 3 6
2
y 4 3 0

Q4. Write three solutions for the equation: 3x+4y=12. (3 marks)
Q5. Factorise : x3+13x2+32x+20. (5 marks)

Hint: Put x=-1
p (-1) =-1+13-32+20
=33-33=0

By Factor Theorem , (x+1) is a factor of p(x).
Now divide given polynomial by (x+1),we get
X3+13x2+32x+20=(x+1) (x2+12x+20)
=(x+1) (x+10) (x+2)

Q6. Factorise: x3-23x2+142x-120. (5 marks)
Subject Punjabi
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Subject Social Science

1. The sun rises two hour earlier in eastern parts of Arunachal Pradesh as compared to Jaisalmer in the west
but the watches show the same time. How does it happen?
1. India has longitudinal extent of 30°. Due to this, there is a time lag of two hours between the sunrise

on the easternmost and the westernmost horizons  of India.

2. Due to rotation, the earth takes 4 minutes to rotate through 1° of longitude.

3. The difference in time is one hour for 15° of longitude.

4. Therefore, for a longitudinal extent of 30° of India, there is a time lag of two hours.

5. When it is 6 a.m. in Arunachal Pradesh, it is still 4 a.m. in Gujarat and Jaisalmer. But the watches in all
parts of India are run according to standard time measured from 82 s%2° longitude.

6. So the watches in Arunachal Pradesh and Jaisalmer show the same time despite the different sunrise.

2. Why is India said to enjoy a strategic position with reference to the international trade route?

Ans. The Indian landmass has a central location between the East and the West Asia.

India is a southward extension of the Asian Continent.

The Trans Indian Ocean routes which connect the countries of Europe in the west and the countries of East Asia
provide a strategic central location to India.



The Deccan Peninsula protrudes into the Indian Ocean thus helping India establish close contact with West Asia,
Africa and Europe from the western coast and with southeast and east Asia from the eastern coast.

The various passes across the mountains in the north have provided passages to the ancient travellers.

These routes have contributed in the exchange of ideas and commaodities since ancient times.

3. Write about the relief of the Peninsular Plateau in five points.

Ans. Peninsular Plateau is a table land composed of the old crystalline igneous and metamorphic rocks.

The plateau has broad and shallow valley and rounded hills.

The plateau consists of two broad divisions, namely the Central Highlands and Deccan Plateau.

The plateau consists of two broad divisions, namely the Central Highlands and Deccan Plateau.

Central Highlands are wider in the west, but narrow in the east.

The Deccan plateau is a triangular land mass that lies to the south of the Narmada River. The plateau is higher in
the west and slopes gently eastward.

4. Describe the features of the Deccan Plateau in five points.

Ans. The Deccan Plateau is a triangular landmass lying to the south of the Narmada River.

The Mahadev, the Kaimur hills and Maikal range from its eastern extensions while Satpura range flanks its broad
base in the north.

The Deccan plateau is higher in the west and slopes gently eastward.

An extension of the plateau can be seen in the northwest locally known as the Meghalaya and Karbi Anglong
Plateau.

It is separated by fault from the Chota Nagpur Plateau.

Three prominent hill ranges are Garo, Khasi and the Jaintia Hills extending from west to east.



